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۞ 
S+.��=  : �$��Q& ka/ �� ���4 -0 c(e�� �� �f�� �B �	
B 7 �	
Q� _i �0 �B

�I.�$�\ -H��[ �,. 

◄ 1�g,: 

 

 

 * �I.�$�\ ��3 7�0 MQ�$�	
H& ���\ 

 

 

 

۞ 6j��/ 
S+. ��=  :     -0�YB �Y0 �Y���3 7 �Y;0 � -0�B �0 k.� 7 �;0 ��I.�$�\ A� �4 �[�

 �� �I.�$�\ �$���B 7��
,-m	�, [$���. 

 

 

 

 

۞  R�W/ 
S+.��=)D�9(  : 3� �� A\�� '# 7�0 ����3 7 �;0 �� �I.�$�\ �B180   �Y:�4

 �I.�$�\ �$��B �$W,)��� ($���[ . 

    ◄  1�g,: 

�	
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�$ ')9:�;< 

=>:?� 5��7�* @9A* 

60 

60 60 
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6 BC�;* ')9: 

120 120 

120 
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120 
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۞ �S`/ 
S+.��=)��9: (    3� �Y� u�ZYB 7 ����3 A� M/�$O �� �I.�$�\180    �	Y��4 �Y:�4

$���[ ��� �� �Ib, $��B. 

◄ 1�g,: 

 

 

���`
 c9�/ :  '���4 7 �dH	& �[�180 � �ab& A� 1�O MQ� A� 7� �:�4  4�YH[ ���Y/ MQ� 7�  

 MQ� -H��[ �,'��b� Z��, 4��4. 

���`
 c9�/ l$�5
 :     �Y0 3� ��Y& �Y� G�� MQ� '��b� Z��, �ab& A� -H�� ��), �Q��� 7��B

�4� �3�$&� '�;0 �B � �4�� M^� �$� �4�4 7 �ab& �B MQ� 7�� �ab&  -HY04 �Y, �, .   7 �Yab& �Y[�

     ZY��, *��Y^ LY�� �YH` �4 $��B �, '��b� Z��, �$� �4�4 7 �ab& �G2�[ ���/ MQ� 7�� M^�O

G
H& '��b�. 

)O G�� '��b� Z��,( 

 

 )O G
H& '��b� Z��,( 

 

 

 

   4�Y2 �Y0 k.� 4�$I� �[� � $&��4 '��b� Z��, �$��B }�3 �0 k.� 4�$I� �[� -m	�, 7�0 �I.�$�\ �4

�$���B $&��$& '��b� Z��,. 

◄ 1�g,: 8  ��� 4��4 '��b� Z��, -m	�, �I.�5 4��$& '��b� Z��, -m	�, �I.�. 
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8642,7531 ˆˆˆˆˆˆˆˆ ======

۞ ���`
 ��W/)���`
 mQ: (     MQY� ��Yb& 7 �Y;0 -H�� �� '# 7�� �� l`�� �[� �� G�� �ai

$&�H[ ���/ -0 7��. 

۞ ���`
 ��W/ l$�5
:    � '�Y;0 �YB � �4�Y� 4�;( _i �B MQ� 7�� �ab& �0 3�   �Y,�4� �3�$Y&   

$��B �, '��b� ��W, �$� -�� _i �G2�[ ���/ MQ� 7�� M^�O �ab& �[� �-H04 �,. 

◄ 1�g,: 

 _i LH/�
�� 7��
	, N.g, �4d  ���3 G�� '��b� ��W,BHAH =. 

 

 

 

 

 

$&��4 '��b� _i '�)��0 k.� 4�$I� �B -m	�, 7�0 �I.� $�\. 

◄ 1�g,: 5  -m	�, �I.�5 W, � '��b� ��6  -m	�, �I.�6 4��4 '��b� ��W,. 

 

 

 

 $�&�, �ai �[�b  _i �4n,m     �$Y�� 4�Yd�� 7��Y
, 7�0 ����3 �0 '# 7�� �� $�� ka/ '��\ �� 

 -H��[ �,m  �Bn G�� 73��,) .m||n ( 

) _i �Bb $���[ ���,.( 
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ba
tb

ta
⇒





⊥

⊥

bd
ba

ad
⊥⇒



⊥

 

 

1( 73��, -0�B _i �4 �[�$���P& � �� �0 '#kf�b	, $�04 �, '�)&     G,e( �B � $���[. 

2( '# 7�� $�� ka/ �� 73��, _i �4 �B��, _i �[�8  4�� �, 4�d�� ����3� '# $�� ����3 ��F\ �

$&� 7��
, -0�B '# 3�B ����3 ��F\ �. 

3($&� 73��, -0�B _i A� �B 73��, _i �4                                      . 21

2

1
dd

ad

ad
⇒







 

 

4($&� 73��, -0�B _i A� �B 4�;( _i �4. 

 

 

 

5(G�� 4�;( ZH& 7���4 �B �$��B 4�;( 73��, _i �4 3� �Q� �B �ai �[�. 

 

 

 

 

 
 

 n0.o� '����/: $&� 73��, -0�B �4 �B �4 '# 7��B�� 7�0 k.� �� �I.���F\. 

 T$;��/: ;U�/ 7�0 ����3 �� G�� �(e�X� 73��	,4��4 �. 

 :*�/: 4��4 �;U�/ 7�0 ����3 � 7��
, k.� ��F\ �� G�� �(e�X� 73��	,. 

 '���: $&�B��B '# k.� ��F\ �� G�� �(e�X� 73��	,. 

#��  

"�H<�$ ')9: 
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۞ n0.o� '����/ '�7 >$X�Q: 

1 ($&� 7��
, � 73��, -0�B ��B�� 7�0 k.�. 

2 ($&� 7��
, -0�B ��B�� 7�0 ����3. 

3 ( R+& �� ���$;0 �0�a/$��� �,. 

4 ($&� M;Q, ���d, 7�0 ����3. 

* $&��4 �� Te�X� 73��	, 7�0 GH^�i 7 �;0 73�� � kB�, �MHa	
,. 

 �`���p: $&� 73��, -0�B '# k.� �4 _b2 �� G�� �I.���F\. 

◄ 1�g,:  ��$b, G�� Te�X� 73��	, ��3 MQ�y,x $���# G�4 �B ��. 

 

 

 

 w���: 

130  =10 - 140  =x � 140  =10  +x 

40  =140 - 180  =y � 180  =140  +y 

 
 

 

R�� ($&���$Q� R+�, 4�;( � 7��
, -0�B �0�a/ kB�, �4. 

� (G
H& kB�, 73�� �0 �,� G�� 73�� �(�& kB�,. 

} ($&� 7��
, -0�B �0�a/ MHa	
, �4. 

4 ($&���$Q� R+�, 4�;( �0�a/ 73�� �4. 

( �0 �$(�/ �B �0 ��� 3� �Q� �� 7� �b&3�� �$��B 4�;����Z�� -U�/ �b&3�� 4�� �, �$H,�&. 
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e��S
 : �$&� 7��
, -0�B '# 7�0 ��� �� 7� �b&3��LH/�
�� 7��
	, �b&3�� 4�� �, �$H,�&. 

 

 

 

 

1 (     TeY�X� 73��Y	, �-HY�� MY^� -0 �B ����	, ��f �B �� Te�X� 73��	, �0 7�0 k.� _�� �[�

4�� �, MHQ)�. 

2 (�0 7�0 k.� _�� �[� 4�� �, MHQ)� 73�� �-H�� M^� -0 �B ����	, ��f �B �� MHa	
,. 

3 (4�� �, MHQ)� MHa	
, �-H�� M^� -0 �B ����	, ��f �B �� 73�� �0 7�0 k.� _�� �[�. 

4 (4�� �, MHQ)� kB�, �-H�� M^� -0 �B ����	, ��f �B �� kB�, �0 7�0 k.� _�� �[�. 

 * N.g, �0 �.i�4 7����3 T�;d,180 :�4� G��. 

 

 * �I.� $�\ �.i�4 7�0 ����3 T�;d,:                                                )n Te�� 4�$I�( 

 

 * -m	�, �I.�$�\ �.i�4 ����3 A� 7 �3�$&� : 

 

◄ 1�g,: �.i�4 ����3 A� 7 �3�$&�8 �G�� �:�4 $�\ -m	�, �I.� 

( ) o135
8

1080

8

1806

8

18028
8 ==

×
=

×−
⇒=n 

 

۞
8��Q �����  :����3    k.Y� 4�$Y	,� � k.� A� LHB ��$W, �I.�$�\ A� ?r� �0 �4 �� 7�

 �4�� �, MHQ)� ���4�:��i 7 ����3 4�� �, �$H,�& ?r� '#. 

 

��;J KL�  

180×)2-n ( 

n

n 1802 ×− )(
 

(�)*+ ��,� 
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◄?�\/ :  7�0 ����3222 ABC ˆ,ˆ,ˆ  N.g, �:��i 7�0 ����3ABC $�	
0. 

 

 

 

�I.� $�\ �0 �:��i 7�0 ����3 T�;d, 360    ��3 AY� 7 �3�$Y&� � GY�� �:�4   �4 �:��Yi �Y�n 

�B G�� �B��B -m	�, �I.� 
n

360°

. 

 

       G�� �B��B v���d, �H` �.i�4 7 ����3 �4 T�;d, �B �:��i 7 ����3 �0 N.g, �0 �4. 

BAC ˆˆˆ +=1 

 

 

 A� 7�0�a/ 4�$I�n �B G�� �B��B �I.� 
2

3)n(n −. 

◄ 1�g,:6 �\ �I.��4��4 �a/ $ 

×
= =

3
9

2 2

6 ×(6 - 3) 6 
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